
Tutorial 12 for MATH4220

Rong ZHANG∗
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Please collect your quiz papers or midterm papers from TAs.
Please collect your HWs from assignment box.

1. The Exterior of a Circle

Consider the following Dirichlet problem for the exterior of a circle
uxx + uyy = 0, x2 + y2 > a2

u = h(θ), x2 + y2 = a2

u is bounded as x2 + y2 →∞

Solution: In polar coordinates, it suffices to solve

r2urr + rur + uθθ = 0, a < r <∞, 0 < θ < 2π

u = h(θ), 0 < θ < 2π

u(r, 0) = u(r, 2π), a < r <∞
uθ(r, 0) = uθ(r, 2π), a < r <∞
u is bounded as r →∞

Find a seperable solution in polar coordinates, u = R(r)Θ(θ). Thus by the equation,
we have

r2R′′ + rR′

R
= −Θ′′

Θ
= λ(constant)

Solve the eigenvalue problem{
Θ′′ = −λΘ, 0 < θ < 2π

Θ(0) = Θ(2π), Θ′(0) = Θ′(2π)

Thus the eigenvalues are λn = n2 and the corresponding eigenfunctions are

Θn = an cosnθ + bn sinnθ, n = 0, 1, 2, · · ·

It remains to solve
r2R′′ + rR′ − λR = 0, a < r <∞

∗Any questions on notes, please contact me at rzhang@math.cuhk.edu.hk
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When n = 0, r2R′′ + rR′ = 0, thus R0r = c0 + d0 ln r. When n ≥ 1, Rn(r) =
cnr
−n + dnr

n. Since u is bounded as r →∞, thus R0(r) = c0, Rn(r) = cnr
−n

Thus

u(r, θ) =
∞∑
n=0

Rn(r)Θn(θ)

=a0c0 +
∞∑
n=1

cnr
−n(an cosnθ + bn sinnθ)

=
A0

2
+
∞∑
n=1

r−n(An cosnθ +Bn sinnθ)

Set r = a,

h(θ) =
A0

2
+
∞∑
n=1

a−n(An cosnθ +Bn sinnθ)

where

An =
an

π

∫ 2π

0

cosnθh(θ)dθ, n = 0, 1, · · ·

Bn =
an

π

∫ 2π

0

sinnθh(θ)dθ, n = 1, 2, · · ·

Actually, this series can be summed explicitly.

u(r, θ) =
r2 − a2

2π

∫ 2π

0

h(φ)

r2 + a2 − 2ar cos θ − φ
dφ (in polar coordinates)

u(~x) =
|~x|2 − a2

2πa

∫
|~x|=a

u(~x′)

|~x− ~x′|2
dS(~x′) (in rectangle coordinates)

2. The wedge
Consider the following Dirichlet problem for a wedge

uxx + uyy = 0, 0 < a2 < x2 + y2, 0 < θ < β

u = h(θ), x2 + y2 = a2

u = 0, θ = 0, β

Solution: In polar coordinates,
r2urr + rur + uθθ = 0, 0 < r < a, 0 < θ < β

u = h(θ), 0 < θ < β

u(r, 0) = u(r, β) = 0, 0 < r < a

Find a seperable solution in polar coordinates, u = R(r)Θ(θ),

r2R′′ + rR′

R
= −Θ′′

Θ
= λ(constant)

Solve the eigenvalue problem{
Θ′′ = −λΘ, 0 < θ < β

Θ(0) = Θ(β) = 0
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Thus the eigenvalues are λn = (nπ
β

)2 and the corresponding eigenfunctions are

Θn = sin(
nπ

β
θ), n = 1, 2, · · ·

It remains to solve
r2R′′ + rR′ − λR = 0, a < r < b.

Then n ≥ 1, Rn(r) = cnr
−nπ

β + dnr
nπ
β . Since u is bounded when 0 < r < a, thus

cn = 0, Rn(r) = dnr
nπ
β .

Thus

u(r, θ) =
∞∑
n=1

Rn(r)Θn(θ)

=
∞∑
n=1

dnr
nπ
β sin(

nπ

β
θ)

Set r = a,

h(θ) =
∞∑
n=1

dna
nπ
β sin(

nπ

β
θ)

where

dna
nπ
β =

2

β

∫ β

0

sin(
nπ

β
θ)h(θ)dθ, n = 1, 2, · · ·
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